.88 |

Mg = 7k3) Mg =" ] k37 V= Com/s, Ve= 2 m/s» e=0.5

Hornework Solutiors

TAM Q0%

MaVa~ + MgVg = Mg Ve + MeNg* (1)

V'B i \/g+

In marcix Sorm,

{
{
!
(

Ma Mg
i G §

KR

(= q-(%+

(

1 ! ]

e o 1 q/':': %%/ . 1 % =

Q "'l \ :\ a O \(0/7 7I4/—,
Vg+ = QOS5 m/s

= e(Va -Vg~)

s

VTA+> I Ma

(o
Tk

Due 3/36 /08

il e ——



page = / 5

Q.89

Mg = & \L3>m6"‘ S Lav VQ”‘ 5‘“‘\/5) Vg = | iy

(V) MaVa + MgVg = mﬁ\/ﬁ*-FmQ\/g*'
(33 \/e+— \/ﬂ+ - e(\/a_-\/g-) ) e- 0.5

Foen (), Vg© = Ve + 0.5(5-1)= vp* + 2 /s
plugin‘\'o (i), 2a(s)* 50)= aVat+ 5(Var2)
or 15 kg™hk = T7vaT+ 10"

. \/Q+: 0. 114 m/s
Vet = 2.4 s

?
=2V 2mgVe = 2B k)(574) 3 (54179’
= B85 3

— ? 3
Ey = 500aVe' "+ 3 mg\/e*-?: 'QL(Q%)('W’” %) + 5 (S (8M™)
- 18.9% 1

AE-K'-'-'- Q7.S-\?.q% - [857 3 losT
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H-Aa

Bosketball with mass My dopped Rom heignt h,e=<;

Sma\l cubbe beall i mass M - y €5 &

Q) Treay Ynis as fwo collisicas :

L) bosketoall hiks grvur\d
Vp = O) cons, of energy  \Vp :"jgsh (be Soce Wit)

Rfter collison V= e, Vp = eb\)agh

(L) bosketoell ond ~lober ball eallide

e =Vagh , v, = exlBgn
I

évb- _ mb\/b-+mf‘v‘-_ = Mb\/b++ mp\/(-+ (1)
Vet- Vot = @ (Vb -vem) (D

From (2), V" = ViT-eVg + eV
= Ve - €€ 8an ~ €] agn
= \/r+ - 6;-\]613h (\‘" e—‘o)

Piug D (i) y MpE, J dgh - Me Jg‘ah = MV mb(vrter@?‘(“@)

OR .,, Qsh (mbeb_ mr) ~ mr-vr" +mb\/,.*'-mbe,_ J 2an (\“’eb)
2 \/f‘+(Mr‘+ Mb> - Mp e \]-5?3; (\H‘i’b)

Ve lrneeny+ T [ et (ee)]

JBan Lenoep=mMp + Mper(irey)]

OR VT =
T Z

Nex +



Consecvahion of enermy \
a |l | R
PeaqNe = 5 Ve - hes g7 (V)

\ I mbeb'mr-l-rﬂbe‘- (Heb)_‘ a
g oy Do e (e
5 L mr"r mb 7
= - |
) h ) h mbeb- M+ mber(\+eb) ol
o t r - i Mg+ M |

b) _IB MO X\ 28 hr‘ 5 weé Con beg‘m by rcc.oar\izinﬁ Maet
EPHGS eb = €p,= a4 Moxtmizes e Aveee o o
he bracketed expression.

ne=h (=2 m“"?mb> h(’b‘“b "“f

Mis is Mmaximized Oy nereasing My ond Ade -

Craosing M.

(e want eyp=Er = 1 oand the \or'ses""
Cato of M, 4o M~ possibble.

_A\G
hﬁmx:h(embo = Qqh

Mp+O

Theoretical Mmax .= 9hn

Pa%e - /5‘
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Givea: Ma, Mg, Vg Va

\ .

AEL = 3 MaVe + & eVe - ‘—‘;Ma\/n?fa- 3 M Vee

ANEL = Ma ( VAL \/g:") + g (ve®- VGP‘)

& AEK = Ma (VA*VM‘) (VM'VM-') T M&(\/e-\/ec)(\/e* Ve@)
= (Mg Va = e Vag ) (Vart Vo e) ~(Me Vg - Malee) (Ve + Vas )

Frory conservabhon of caorerum:
Ma Ve + MgVe = MaVae+ MaVge

0k -(M\pVna "mn\/gc):: Mg Ve —Ma Vg.e

a bE.k = (mg \/9- rf')g\/p,p)(\/a* \/aF) - (rﬂp‘/ﬂ“mﬁ\/mf) (\/g*'Vgt-) |
= ((‘ﬂg \/Q-(‘ﬂg Vgg:)(\/p,-i Vo £ "‘/6-\/3,;‘)
= Mpa (\/Q = VM)(\/Q“' Vot - Ve ‘VB'P)

\ Ve -
Neoo-\-ons C‘onsﬁhx\-&rc Law e = ¢ - Vag
Va -~ Vg

OR. BC\/Q“\/E>>'-'- Ver - Vag
e(Ve-Va) = Vae-Vas

W RaEr = mMa (Ve -ver ) Va reVe-€Va - Ve)
= Ma(Vp-Var) [\/ﬁ("f-)' ve (I-e) ]
= g (Va-Vae) (1-)(Va- Ve )

(e know Va>Vg y Va >Vaf, 60 ¥ne siga of AE, is
He samne ag Hhe sign of -e., ANEy - Eva-FEuLe, which
OUst be >O0. IT#£ e>l, 0EL €0 ond we nhave an
nCrease in kK nahe enry. So lel < 1 .




